Chapter 5. Photons: Covariant Theory 5.1. The classical fields ✓ 5.2. Covariant quantization ✓

5.3. The photon propagator 🖌

Chapter 6. The S-Matrix Expansion 6.1. Natural Dimensions and Units ✓ 6.2. The S-matrix expansion ✓

6.3. Wick's theorem 🖌

Chapter 7. Feynman Diagrams and Rules in QED
7.1. Feynman diagrams in configuration space ✓
7.2. Feynman diagrams in momentum space ✓
7.3. Feynman rules for QED ✓
7.4. Leptons (SKIPPED)

Chapter 8. QED Processes in Lowest Order

- 8.1. The cross section \checkmark
- 8.2. Spin sums 🖌
- 8.3. Photon polarization sums
- 8.4-7. Examples
- 8.8-9. Bremsstrahlung

QED 2 to 2 processes in leading order

 Charge = -2e $e + e \rightarrow e + e$ (Møller cross section) S Charge = -e $\gamma + e \rightarrow \gamma + e$ (Compton scattering; Klein-Nishina cross section) S Charge = 0 $e + \overline{e} \rightarrow e + \overline{e}$ (Bhabha cross section) $e + \overline{e} \rightarrow \gamma + \gamma$ (pair annihilation) $\gamma + \gamma \rightarrow e + \overline{e}$ (pair creation) $\gamma + \gamma \rightarrow \gamma + \gamma$ (light by light scattering) \$ Charge = +e charge conjugation of -e Charge = +2e charge conjugation of -2e

SECTION 8.4 LEPTON PAIR PRODUCTION IN e+e- COLLISIONS

 $\begin{array}{l} e^{\text{+}}(p_{1}) + e^{\text{-}}(p_{2}) \rightarrow \ \mu^{\text{+}}(p_{3}) + \mu^{\text{-}}(p_{4}) \\ p_{1}^{\ \mu} + p_{2}^{\ \mu} = p_{3}^{\ \mu} + p_{4}^{\ \mu} \end{array}$

 $Masses: m \ m \to M \ M$

There is only one Feynman diagram,



Thus the transition matrix element is

$$\mathcal{M} = ie^{2} \left(\overline{u_{4}} \, \mathcal{Y}_{\alpha} \, \overline{v_{3}} \right) \frac{1}{\left(\overline{p_{1}} + \overline{p_{2}} \right)^{2}} \left(\overline{v_{1}} \, \mathcal{Y}^{\alpha} \, \overline{u_{2}} \right)_{m}$$

$$\overline{\mathcal{M}}^{2} = \frac{1}{4} \sum_{\lambda_{1}} \sum_{\lambda_{2}} \sum_{\lambda_{3}} \sum_{\lambda_{4}} \left(\mathcal{M}^{2} \right)^{2}$$

$$= \frac{e^{4}}{4s^{2}} E^{\alpha\beta} M_{\alpha\beta}$$

$$E^{\alpha\beta} = \sum_{\lambda_{1}} \sum_{\lambda_{2}} \overline{v_{1}} \, \mathcal{Y}^{\alpha} \, u_{2} \, \overline{u_{2}} \, \mathcal{Y}^{\beta} \, \overline{v_{1}}$$

$$= \sum_{\lambda_{1}} \sum_{\lambda_{2}} \operatorname{Tr} \left[v_{1} \overline{v_{1}} \, \mathcal{Y}^{\alpha} \, u_{2} \overline{u_{2}} \, \mathcal{Y}^{\beta} \right]$$

$$E^{\alpha\beta} = \frac{1}{(2m)^{2}} \operatorname{Tr} (\mu_{1} - m) \gamma^{\alpha} (\mu_{2} + m) \gamma^{\beta}$$

$$= \frac{1}{(2m)^{2}} \left\{ 4 p^{\alpha} p_{2}^{\beta} - 4 p_{1} p_{2} q^{\alpha\beta} + 4 p_{1}^{\beta} p_{2}^{\alpha} - m^{2} 4 q^{\alpha\beta} \right\}$$

$$= \frac{4}{(2m)^{2}} \left\{ b_{1}^{\alpha} p_{2}^{\beta} + p_{2}^{\alpha} p_{1}^{\beta} - g^{\alpha\beta} (p_{1} p_{2} + m^{2}) \right\}$$

$$M_{\alpha\beta} = \sum_{\lambda_{3}} \sum_{\lambda_{4}} \overline{u_{4}} \gamma_{\alpha} u_{3} \overline{u_{3}} \gamma_{\beta} u_{4}$$

$$= \frac{4}{(2m)^{2}} \left\{ P_{3\alpha} p_{4\beta} + P_{4\alpha} p_{3\beta} - q_{\alpha\beta} (p_{3} p_{4} + m^{2}) \right\}$$

$$E^{AB}M_{AB} = \frac{1}{M^{2}M^{2}} \left[(P_{1}P_{2} + P_{2}P_{3})^{B} (B_{1}P_{4} + P_{4}B)_{AB} - \frac{2P_{3}P_{4}}{P_{1}P_{2}} (P_{1}P_{2} + P_{4}P_{3}) - \frac{2P_{1}P_{2}(P_{3}P_{4} + M^{2})}{P_{1}P_{2}(P_{3}P_{4} + M^{2})} \right]$$

$$\frac{Mandclstam}{P_{1}P_{2}P_{1}P_{2}} = \frac{2P_{1}^{2} + 2P_{1}P_{2}}{P_{1}P_{2}} = (P_{3} + P_{4})^{2} = 2H^{2} + 2P_{3}P_{4}$$

$$t = (P_{1} - P_{3})^{2} = 2M^{2} + M^{2} - 2P_{4}P_{3}$$

$$t = (p_1 - p_3)^2 = m^2 + M^3 - 2p_1 \cdot p_3$$

= $(p_4 - p_2)^2 = M^2 + m^2 - 2p_2 \cdot p_4$
$$u = (p_1 - p_4)^2 = m^2 + M^2 - 2p_1 \cdot p_4$$

= $(p_3 - p_3)^2 = M^2 + m^2 - 2p_2 \cdot p_3$

$$E^{-n_{B}}M_{dB} = \frac{1}{m^{2}M^{2}} \left[\begin{array}{c} \Re h_{1}^{*} \Re h_{2}^{*} \Re h_{4}^{*} + 2h_{1}^{*} \mu_{4} h_{2}^{*} \Re \\ -2 \frac{1}{2}(s-2M^{2})^{\frac{2}{2}} - 2\frac{1}{2}(s-2m^{2})^{\frac{2}{2}} \\ + 4 \frac{1}{2} \Re \cdot \Re 2 \end{array} \right]$$

$$= \frac{1}{2M^{2}M^{2}} \left[\frac{1}{2} \left(\frac{m^{2}+m^{2}-t}{m^{2}+t} \right)^{\frac{2}{2}} + \frac{1}{2} \left(\frac{m^{2}+m^{2}-u}{m^{2}+t} \right)^{\frac{2}{2}} \\ + 5 \left(\frac{m^{2}+m^{2}}{m^{2}+t} \right)^{\frac{2}{2}} \right]$$

$$\overline{M} \left[2 = \frac{e^{4}}{4s^{2}} \frac{1}{m^{2}M^{2}} \left[\begin{array}{c} m \end{array} \right]$$

$$\overline{M} \left[2 = \frac{e^{4}}{4s^{2}} \frac{1}{m^{2}M^{2}} \left[\begin{array}{c} m \end{array} \right]$$

$$\overline{M} \left[2 = \frac{e^{4}}{4s^{2}} \frac{1}{m^{2}M^{2}} \left[\begin{array}{c} m \end{array} \right]$$

$$\overline{M} \left[2 = \frac{1}{64\pi^{2}} \left(\frac{1}{6\pi^{2}} \right)^{\frac{2}{2}} \left[\frac{1}{\left[\frac{1}{p_{1}} \right]} \left[\frac{1}{\left[\frac{1}{p_{1}} \right]} \right] \frac{1}{\left[\frac{1}{p_{1}} \right]} \right]$$

what, R+R=0 $\vec{B} \qquad \vec{P_1 + P_2} = - \vec{P_2} = \vec{F_2} = \sqrt{\vec{P_1^2 + m^2}}$ $\vec{E_1} = \vec{E_2} = \sqrt{\vec{P_1^2 + m^2}}$ $\vec{E_1} = \vec{E_2} = \sqrt{\vec{P_1^2 + m^2}}$ $E_3 = E_4 = \sqrt{p_3^2 + m^2}$ $S = (p_1 + p_1)^2 = (E_1 + E_2)^2 = 4E_1^2 = 4p_1^2 + 4m^2$ $= (p_3 + p_4)^2 = (E_3 + E_4)^2 = 4E_3^2 = 4p_3^2 + 4M^2$ $\left(\frac{d\sigma}{d\Sigma}\right)_{COM} = \frac{1}{64\pi^2 5} \left(\frac{5/4 - M^2}{5/4 - M^2}\right)^{\frac{1}{2}} \frac{16m^2 M^2}{16m^2 M^2} |\mathcal{M}|^2$ $= \frac{e^4}{4\pi^2 c} \left(\frac{s - 4M^2}{s - 4M^2} \right)^{\frac{1}{2}} \frac{1}{4s^2}$ $\left[\frac{1}{2}(w^{2}+w^{2}-t)^{2}+\frac{1}{2}(w^{2}+w^{2}-w)^{2}\right]$ + 5 (m2 + H2)]

$$\begin{pmatrix} \frac{d\sigma}{d\Sigma} \\ \frac{d\tau}{d\Sigma} \\ com = \frac{1}{64\pi^2 s} \left(\frac{54 - M^2}{54 - m^2} \right)^{\frac{1}{2}} |6m^2 M^2| |m|^2$$

$$= \frac{e^4}{4\pi^2 s} \left(\frac{s - 4m^2}{s - 4m^2} \right)^{\frac{1}{2}} \frac{1}{4s^2}$$

$$\left[\frac{1}{2} (m^2 + m^2 - t)^2 + \frac{1}{2} (m^2 + m^2 - u)^2 + s (m^2 + m^2) \right]$$









Electron - positron annihilation to hadrons

These were important experiments in the history of high-energy physics.

From the Particle Data Group, the figure shows the ratio

R = σ (e ebar \rightarrow hadrons) / σ (e ebar $\rightarrow \mu \mu bar$).

The underlying process in hadron production is $e + ebar \rightarrow q + qbar$.

Neglecting QCD interactions we would just have R = constant (green = naive quark model; red = QCD 3rd order).



R depends on \sqrt{s} because of 2 effects:

- thresholds
- resonances

Between thresholds we do indeed have

 $R \approx constant.$

Naively estimate the constant above the bquark threshold,

 $R = \sum e_q^2 / e^2$ = (1/9 + 4/9 + 1/9 + 4/9 + 1/9) × 3 = 11 /3 = 3.67.

This is a great success of QCD. Historically, measurements of R provided strong evidence for the quark model and QCD.

